

A REMARK ON IFP RINGS

CHANG HYEOK LEE, HYO JIN LIM, JAE HYOUNG PARK, JUNG
HYUN KIM, JUNG SOO KIM, MIN JOON JEONG, MIN KYUNG
SONG, SI HWAN KIM, SU MIN HWANG, TAE KANG EOM, MIN
JUNG LEE, YANG LEE AND SUNG JU RYU*

ABSTRACT. We continue the study of power-Armendariz rings over IFP rings, introducing k -power Armendariz rings as a generalization of power-Armendariz rings. Han et al. showed that IFP rings are 1-power Armendariz. We prove that IFP rings are 2-power Armendariz. We moreover study a relationship between IFP rings and k -power Armendariz rings under a condition related to nilpotency of coefficients.

1. IFP rings and 2-power Armendariz rings

Throughout this note every ring is associative with identity unless otherwise stated. Let R be a ring (possibly without identity). $R[x]$ denotes the polynomial ring with an indeterminate x over R . For $f(x) \in R[x]$, let $C_{f(x)}$ denote the set of all coefficients of $f(x)$. We use $\deg f(x)$ to denote the degree of $f(x)$. Denote the n by n full (resp., upper triangular) matrix ring over R by $Mat_n(R)$ (resp., $U_n(R)$). Use e_{ij} for the matrix with (i, j) -entry 1 and elsewhere 0. \mathbb{Z} (\mathbb{Z}_n) denotes the ring of integers (modulo n). Let $J(R)$, $N_*(R)$, $N^*(R)$, and $N(R)$ denote the Jacobson radical, the prime radical, the upper nilradical (i.e., sum of all

Received May 28, 2013. Revised July 4, 2013. Accepted July 4, 2013.

2010 Mathematics Subject Classification: 16U80, 16N40.

Key words and phrases: IFP ring, k -power-Armendariz ring.

* Corresponding author.

© The Kangwon-Kyungki Mathematical Society, 2013.

This is an Open Access article distributed under the terms of the Creative Commons Attribution Non-Commercial License (<http://creativecommons.org/licenses/by-nc/3.0/>) which permits unrestricted non-commercial use, distribution and reproduction in any medium, provided the original work is properly cited.

nil ideals), and the set of all nilpotent elements in R , respectively. It is well-known that $N^*(R) \subseteq J(R)$ and $N_*(R) \subseteq N^*(R) \subseteq N(R)$.

Following Bell [3], a ring R is called to satisfy the *Insertion-of-Factors-Property* (simply, an *IFP* ring) if $ab = 0$ implies $aRb = 0$ for $a, b \in R$. A ring is usually called *Abelian* if every idempotent is central. It is easily checked that IFP rings are Abelian. It is well-known that $N_*(R) = N^*(R) = N(R)$ for an IFP ring R .

A ring (possibly without identity) is usually called *reduced* if it has no nonzero nilpotent elements. For a reduced ring R and $f(x), g(x) \in R[x]$, Armendariz [2, Lemma 1] proved that

$$ab = 0 \text{ for all } a \in C_{f(x)}, b \in C_{g(x)} \text{ whenever } f(x)g(x) = 0.$$

Rege-Chhawchharia [9] called a ring (possibly without identity) *Armendariz* if it satisfies this property. So reduced rings are clearly Armendariz. Armendariz rings are also Abelian by the proof of [1, Theorem 6] (or [7, Lemma 7]).

Note that IFP rings and Armendariz rings are independent of each other by [9, Example 3.2] and [5, Example 14]. However for a semiprime right Goldie ring R , R is Armendariz if and only if R is IFP by [5, Corollary 13].

Given a ring R and $n \geq 2$, we usually write

$$D_n(R) = \left\{ \left(\begin{array}{cccccc} a & a_{12} & a_{13} & \cdots & a_{1n} \\ 0 & a & a_{23} & \cdots & a_{2n} \\ 0 & 0 & a & \cdots & a_{3n} \\ \vdots & \vdots & \vdots & \ddots & \vdots \\ 0 & 0 & 0 & \cdots & a \end{array} \right) \in U_n(R) \mid a, a_{ij} \in R \right\},$$

$$N_n(R) = \{(a_{ij}) \in D_n(R) \mid a_{ii} = 0 \text{ for all } i\}, \text{ and}$$

$$V_n(R) = \{(a_{ij}) \in D_n(R) \mid a_{ij} = a_{(i+1)(j+1)} \text{ for } i = 1, \dots, n-2 \\ \text{and } j = 2, \dots, n-1\}.$$

Note that $V_n(R) \cong \frac{R[x]}{R[x]x^nR[x]}$ by [8].

A ring R is reduced if and only if $D_3(R)$ is Armendariz by [6, Proposition 2.8], but $D_n(A)$ cannot be Armendariz for any ring A when $n \geq 4$ by [7, Example 3]. Let R be a division ring and consider $f(x) = \sum_{i=0}^s A_i x^i, g(x) = \sum_{j=0}^t B_j x^j \in D_n(R)[x]$ with $f(x)g(x) = 0$. Since $J(D_n(R)) = N_n(R)$ and $\frac{D_n(R)}{N_n(R)} \cong R$, $f(x)g(x) = 0$ implies that $A_i, B_j \in N_n(R)$ for all i, j . This yields $A_i^n = 0, B_j^n = 0$, and $A_i^n B_j^n = 0$.

Following Han et al. [4], a ring R (possibly without identity) is called *power-Armendariz* if whenever $f(x)g(x) = 0$ for $f(x), g(x) \in R[x]$, there exist $m, n \geq 1$ such that

$$a^m b^n = 0 \text{ for all } a \in C_{f(x)}, b \in C_{g(x)}.$$

It is obvious that $a^m b^n = 0$ for some $m, n \geq 1$ if and only if $a^\ell b^\ell = 0$ for some $\ell \geq 1$, in the preceding definition. Armendariz rings are clearly power-Armendariz, but the converse need not be true. Consider a non-reduced, IFP and Armendariz ring A (e.g., $D_2(\mathbb{Z})$). Then $D_3(A)$ is power-Armendariz by [4, Theorem 1.4(1)]; but $D_3(A)$ is not Armendariz by [6, Proposition 2.8]. Power-Armendariz rings are also Abelian by [4, Proposition 1.1(5)].

In this note, a ring R (possibly without identity) will be called *k-power-Armendariz* if whenever $f(x)g(x) = 0$ for $f(x), g(x) \in R[x]$ with $\deg f(x), \deg g(x) \leq k$, there exist $m, n \geq 1$ such that

$$a^m b^n = 0 \text{ for all } a \in C_{f(x)}, b \in C_{g(x)}.$$

It is obvious that a ring R is *k-power-Armendariz* if and only if there exist $m, n \geq 1$ such that $a^m b^n = 0$ for any pair $(a, b) \in C_{f(x)} \times C_{g(x)}$, whenever $f(x)g(x) = 0$ for $f(x), g(x) \in R[x]$ with $\deg f(x), \deg g(x) \leq k$. Note that a ring is power-Armendariz if and only if it is *k-power-Armendariz* for all $k \geq 0$. *k-power-Armendariz* rings are Abelian by the proof of [4, Proposition 1.1(5)] for any $k \geq 1$.

IFP rings are 1-power-Armendariz by [4, Proposition 1,6]. We continue this study by investigating more properties of IFP rings which are related to *k-power-Armendariz* rings.

PROPOSITION 1.1. *IFP rings are 2-power-Armendariz.*

Proof. Let R be an IFP ring, and suppose that $f(x)g(x) = 0$ for $f(x) = \sum_{i=0}^2 a_i x^i, g(x) = \sum_{j=0}^2 b_j x^j$ in $R[x]$. Then we have

- (1) $a_0 b_0 = 0,$
- (2) $a_0 b_1 + a_1 b_0 = 0,$
- (3) $a_0 b_2 + a_1 b_1 + a_2 b_0 = 0,$
- (4) $a_2 b_1 + a_1 b_2 = 0,$
- (5) $a_2 b_2 = 0.$

We will use the IFP property of R freely. Multiplying the equality (2) by b_0 on the right (resp., by a_0 on the left), we have

$$(6) \quad 0 = (a_0b_1 + a_1b_0)b_0 = a_1b_0^2 \text{ (resp., } 0 = a_0(a_0b_1 + a_1b_0) = a_0^2b_1)$$

by the equality (1).

Multiplying the equality (3) by b_0^2 on the right (resp., by a_0^2 on the left), we have

$$(7) \quad 0 = (a_0b_2 + a_1b_1 + a_2b_0)b_0^2 = a_2b_0^3 \\ \text{(resp., } 0 = a_0^2(a_0b_2 + a_1b_1 + a_2b_0) = a_0^3b_2)$$

by the equalities (1) and (6).

Multiplying the equality (4) by b_2 on the right (resp., by a_2 on the left), we have

$$(8) \quad 0 = (a_2b_1 + a_1b_2)b_2 = a_1b_2^2 \text{ (resp., } 0 = a_2(a_2b_1 + a_1b_2) = a_2^2b_1)$$

by the equality (5).

Multiplying the equality (3) by b_2^2 on the right (resp., by a_2^2 on the left), we have

$$(9) \quad 0 = (a_0b_2 + a_1b_1 + a_2b_0)b_2^2 = a_0b_2^3 \\ \text{(resp., } 0 = a_2^2(a_0b_2 + a_1b_1 + a_2b_0) = a_2^3b_0)$$

by the equalities (5) and (7).

Lastly we will find $s, t \geq 1$ such that $a_1^s b_1^t = 0$. From the equalities (1) \sim (5), we have

$$(a_0 + a_1 + a_2)(b_0 + b_1 + b_2) = 0.$$

This equality yields that

$$(a_0 + a_1 + a_2)r(b_0 + b_1 + b_2) = 0 \text{ for all } r \in R.$$

So we have

$$(10) \quad a_1rb_1 = -a_0rb_1 - a_1rb_0 - a_0rb_2 - a_2rb_0 - a_1rb_2 - a_2rb_1$$

for all $r \in R$. Taking $r = a_1a_1b_1$ in the equality (10), we get

$$\begin{aligned}
 a_1^3 b_1^2 &= a_1(a_1 a_1 b_1) b_1 \\
 &= -a_0(a_1 a_1 b_1) b_1 - a_1(a_1 a_1 b_1) b_0 - a_0(a_1 a_1 b_1) b_2 \\
 &\quad - a_2(a_1 a_1 b_1) b_0 - a_1(a_1 a_1 b_1) b_2 - a_2(a_1 a_1 b_1) b_1 \\
 &= a_0 a_1(-a_1 b_1) b_1 + a_1 a_1(-a_1 b_1) b_0 + a_0 a_1(-a_1 b_1) b_2 \\
 &\quad + a_2 a_1(-a_1 b_1) b_0 + a_1 a_1(-a_1 b_1) b_2 + a_2 a_1(-a_1 b_1) b_1 \\
 &= a_0 a_1(a_0 b_2 + a_2 b_0) b_1 + a_1 a_1(a_0 b_2 + a_2 b_0) b_0 \\
 &\quad + a_0 a_1(a_0 b_2 + a_2 b_0) b_2 + a_2 a_1(a_0 b_2 + a_2 b_0) b_0 \\
 &\quad + a_1 a_1(a_0 b_2 + a_2 b_0) b_2 + a_2 a_1(a_0 b_2 + a_2 b_0) b_1 = 0
 \end{aligned}$$

by help of the equalities (1) ~ (9). Thus R is 2-power-Armendariz. \square

2. IFP rings and k -power Armendariz rings

In this section we study a relationship between IFP rings and k -power Armendariz rings under a condition.

PROPOSITION 2.1. *Let R be an IFP ring and $f(x)g(x) = 0$ for $f(x) = \sum_{i=0}^k a_i x^i, g(x) = \sum_{j=0}^k b_j x^j \in R[x]$ ($k \geq 3$) such that $a_1, \dots, a_{k-1} \in N(R)$ or $b_1, \dots, b_{k-1} \in N(R)$. Then there exist $m, n \geq 1$ such that $a^m b^n = 0$ for all $a \in C_{f(x)}, b \in C_{g(x)}$.*

Proof. Let R be an IFP ring, and assume that $f(x)g(x) = 0$ for $f(x) = \sum_{i=0}^k a_i x^i, g(x) = \sum_{j=0}^k b_j x^j \in R[x]$ ($k \geq 3$) with $a_1, \dots, a_{k-1} \in N(R)$ or $b_1, \dots, b_{k-1} \in N(R)$. Then we first have

- (11) $a_0 b_0 = 0,$
- (12) $a_0 b_1 + a_1 b_0 = 0,$
- (13) $a_0 b_2 + a_1 b_1 + a_2 b_0 = 0,$
- (14) \dots
- (15) $a_0 b_k + a_1 b_{k-1} + \dots + a_{k-1} b_1 + a_k b_0 = 0,$
- (16) \dots
- (17) $a_{k-2} b_k + a_{k-1} b_{k-1} + a_k b_{k-2} = 0,$
- (18) $a_{k-1} b_k + a_k b_{k-1} = 0,$
- (19) $a_k b_k = 0.$

We will use the IFP property of R freely. Multiplying the equality (12) by b_0 on the right (resp., by a_0 on the left), we have

$$(20) \quad 0 = (a_0b_1 + a_1b_0)b_0 = a_1b_0^2 \text{ (resp., } 0 = a_0(a_0b_1 + a_1b_0) = a_0^2b_1)$$

by the equality (11).

Multiplying the equality (13) by b_0^2 on the right (resp., by a_0^2 on the left), we have

$$\begin{aligned} 0 &= (a_0b_2 + a_1b_1 + a_2b_0)b_0^2 = a_2b_0^3 \\ &\text{(resp., } 0 = a_0^2(a_0b_2 + a_1b_1 + a_2b_0) = a_0^3b_2) \end{aligned}$$

by the equalities (11) and (20).

We proceed by induction and assume that $a_i b_0^{i+1} = 0$ for $i = 0, 1, \dots, k-1$.

Multiplying the equality (15) by b_0^k on the right (resp., by a_0^k on the left), we have

$$\begin{aligned} 0 &= (a_0b_k + a_1b_{k-1} + \dots + a_{k-1}b_1 + a_k b_0)b_0^k = a_k b_0^{k+1} \\ &\text{(resp., } 0 = a_0^k(a_0b_k + a_1b_{k-1} + \dots + a_{k-1}b_1 + a_k b_0) = a_0^{k+1}b_k) \end{aligned}$$

by assumption.

From the equalities (15) \sim (19), we can obtain

$$\begin{aligned} a_k^{k+1}b_0 &= a_k^k b_1 = \dots = a_k^2 b_{k-1} = 0 \quad \text{and} \\ a_0 b_k^{k+1} &= a_1 b_k^k = \dots = a_{k-1} b_k^2 = 0 \end{aligned}$$

similarly.

We already have $a_1, \dots, a_{k-1} \in N(R)$ or $b_1, \dots, b_{k-1} \in N(R)$ by assumption, so there exist $s, t \geq 1$ such that $a_i^s b_j^t = 0$ for $i = 1, \dots, k-1$ and $j = 1, \dots, k-1$.

Therefore there exist $m, n \geq 1$ such that $a^m b^n = 0$ for all $a \in C_{f(x)}$, $b \in C_{g(x)}$. \square

We do not answer whether IFP rings are k -power Armendariz for $k \geq 3$. So we end this note by raising the following question.

Question. Are IFP rings k -power Armendariz for $k \geq 3$?

References

- [1] D.D. Anderson, V. Camillo, *Armendariz rings and Gaussian rings*, Comm. Algebra **26** (1998), 2265-2272.
- [2] E.P. Armendariz, *A note on extensions of Baer and P.P.-rings*, J. Aust. Math. Soc. **18** (1974), 470-473.
- [3] H.E. Bell, *Near-rings in which each element is a power of itself*, Bull. Aust. Math. Soc. **2** (1970), 363-368.
- [4] J. Han, T.K. Kwak, M.J. Lee, Y. Lee, Y. Seo, *On powers of coefficients of zero-dividing polynomials*, (submitted).
- [5] C. Huh, Y. Lee, A. Smoktunowicz, *Armendariz rings and semicommutative ring*, Comm. Algebra **30** (2002), 751-761.
- [6] Y.C. Jeon, H.K. Kim, Y. Lee, J.S. Yoon, *On weak Armendariz rings*, Bull. Korean Math. Soc. **46** (2009), 135-146.
- [7] N.K. Kim, Y. Lee, *Armendariz rings and reduced rings*, J. Algebra **223** (2000), 477-488.
- [8] T.K. Lee, Y.Q. Zhou, *Armendariz and reduced rings*, Comm. Algebra **32** (2004), 2287-2299.
- [9] M.B. Rege, S. Chhawchharia, *Armendariz rings*, Proc. Japan Acad. Ser. A Math. Sci. **73** (1997), 14-17.

Department of Mathematics
Pusan Science High School
Pusan 609-735, Korea

E-mail: chango643@naver.com, har2y0516@naver.com,
ipjh96@naver.com, jasper.jr.kim@naver.com
kjsccc@hanmail.net, albert507@naver.com
min0110@naver.com, hatlg@naver.com
steven720@naver.com, xrahany@naver.com

Department of Mathematics Education
Pusan National University
Pusan 609-735, Korea
E-mail: nice1mj@nate.com

Department of Mathematics Education
Pusan National University
Pusan 609-735, Korea
E-mail: ylee@pusan.ac.kr

Department of Mathematics
Pusan National University
Pusan 609-735, Korea
E-mail: sung1530@dreamwiz.com